

Provided for non-commercial research and educational use.
Not for reproduction, distribution or commercial use.

Mathematica Balkanica

Mathematical Society of South-Eastern Europe
A quarterly published by
the Bulgarian Academy of Sciences – National Committee for Mathematics

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal
<http://www.mathbalkanica.info>

or contact:

Mathematica Balkanica - Editorial Office;
Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria
Phone: +359-2-979-6311, Fax: +359-2-870-7273,
E-mail: balmat@bas.bg

On Two Sums Related to the Prime Divisor Functions

Cao Hui-Zhong

Presented by P. Kenderov

Define $\omega(n)$ as the number of different prime factors of n , and $\Omega(n)$ as its total number of prime factors. And define $d(n)$ as the number of positive factors of n . We prove that (i) $\sum_{2 \leq n \leq x} \frac{\Omega(n)}{\omega(n)} = x + c_0 \frac{x}{\log \log x} + O\left\{\frac{x}{(\log \log x)^2}\right\}$, where $c_0 = \sum_p \frac{1}{p(p-1)}$ and (ii) $\sum_{2 \leq n \leq x} \frac{\log d(n)}{\Omega(n)} = (\log 2)x + O\left(\frac{x}{\log \log x}\right)$.

As usual, define the functions ω , Ω and d by $\omega(n) = \sum_{p|n} 1$, $\Omega(n) = \sum_{p^k|n} 1$ and $d(n) = \sum_{k|n} 1$, where n, m, k are positive integers and p is prime. In order to compare the values of $\omega(n)$ with the values of $\Omega(n)$, R. L. Duncan (1) considered the function $\frac{\Omega(n)}{\omega(n)}$ and proved that

$$\sum_{2 \leq n \leq x} \frac{\Omega(n)}{\omega(n)} = x + O\left(\frac{x}{\log \log x}\right).$$

In this paper, first we improve the above asymptotic expression. We prove

Theorem 1. $\sum_{2 \leq n \leq x} \frac{\Omega(n)}{\omega(n)} = x + c_0 \frac{x}{\log \log x} + O\left\{\frac{x}{(\log \log x)^2}\right\}$, where $c_0 = \sum_p \frac{1}{p(p-1)}$.

Then, to compare the values of $d(n)$ with the values of $\Omega(n)$ we consider the function $\frac{\log d(n)}{\Omega(n)}$ and show that it has an average order $\log 2$. We prove

Theorem 2. $\sum_{2 \leq n \leq x} \frac{\log d(n)}{\Omega(n)} = (\log 2)x + O\left(\frac{x}{\log \log x}\right)$.

In order to prove the theorems we need the following lemmas.

Lemma 1. $\sum_{2 \leq n \leq x} \frac{1}{\Omega(n)+1} = \frac{x}{\log \log x} + O\left\{\frac{x}{(\log \log x)^2}\right\}$.

Proof. From [2] (or see [4]), we know that

$$(1) \quad \sum_{2 \leq n \leq x} z^{\Omega(n)} = xH(z) (\log x)^{p-1} + O\{x(\log x)^{\operatorname{Re}z-2}\}$$

uniformly for $|z| < 3/2$, where $H(z) = \frac{1}{\Gamma(z)} \prod_p (1-zp^{-1})^{-1} (1-p^{-1})^z$. By (1), noting $H(z)$ is a holomorphic in $|z| < 3/2$, we get

$$(2) \quad \sum_{2 \leq n \leq x} \frac{1}{\Omega(n)+1} = \sum_{2 \leq n \leq x} \int_0^1 z^{\Omega(n)} dz = \frac{x}{\log x} \int_0^1 H(z) (\log x)^z dz + O\left(\frac{x}{\log x}\right).$$

Using integration by parts, noting $H(1)=1$ and $H(0)=0$, we get

$$(3) \quad \int_0^1 H(z) (\log x)^z dz = \frac{\log x}{\log \log x} - \frac{1}{\log \log x} \int_0^1 H'(z) (\log x)^z dz,$$

$$(4) \quad \int_0^1 H'(z) (\log x)^z dz = \frac{H'(1) \log x}{\log \log x} - \frac{1}{\log \log x} \int_0^1 H''(z) (\log x)^z dz - \frac{H'(0)}{\log \log x} = O\left(\frac{\log x}{\log \log x}\right).$$

Lemma 1 follows from (2), (3) and (4).

From [2] (or see [4]), we also find that

$$(5) \quad \sum_{2 \leq n \leq x} z^{\omega(n)} = xF(z) (\log x)^{p-1} + O\{x(\log x)^{\operatorname{Re}z-2}\}$$

uniformly for $|z| < 3/2$, where $F(z) = \frac{1}{\Gamma(z)} \prod_p \{1+z(p-1)^{-1}\} (1-p^{-1})^z$. It is easy to see that in the same way as the proof of Lemma 1, by (5), we can get

Lemma 2.
$$\sum_{2 \leq n \leq x} \frac{1}{\omega(n)+1} = \frac{x}{\log \log x} + O\left(\frac{x}{(\log \log x)^2}\right).$$

Lemma 3.
$$\sum_{2 \leq n \leq x} \frac{\omega(n)}{\Omega(n)} = x + O\left(\frac{x}{\log \log x}\right).$$

Proof. Let $\Omega(1)=0$, then

$$(6) \quad \begin{aligned} \sum_{2 \leq n \leq x} \frac{\omega(n)}{\Omega(n)} &= \sum_{2 \leq n \leq x} \frac{1}{\Omega(n)} \sum_{p|n} 1 = \sum_{p \leq x} \sum_{n \leq xp^{-1}} \frac{1}{\Omega(n)+1} \\ &= \sum_{p \leq \sqrt{x}} \sum_{n \leq xp^{-1}} \frac{1}{\Omega(n)+1} + \sum_{n \leq \sqrt{x}} \frac{1}{\Omega(n)+1} \sum_{p \leq xn^{-1}} 1 \\ &\quad - \left(\sum_{p \leq \sqrt{x}} 1 \right) \left(\sum_{n \leq \sqrt{x}} \frac{1}{\Omega(n)+1} \right) = S_1 + S_2 - S_3. \end{aligned}$$

We now estimate separately $S_i, 1 \leq i \leq 3$. By the lemma 1, noting $0 < \frac{\log p}{\log x} \leq 1/2$ for $p \leq \sqrt{x}$ and $\sum_{p \leq x} \frac{1}{p} = \log \log x + O(1)$, we get

$$\begin{aligned}
 (7) \quad S_1 &= \sum_{p \leq \sqrt{x}} \left\{ \frac{x}{p \log \log (xp^{-1})} + O\left[\frac{x}{p(\log \log (xp^{-1}))^2} \right] \right\} \\
 &= \frac{x}{\log \log x} \sum_{p \leq \sqrt{x}} \frac{1}{p \left\{ 1 + \frac{\log[1 - (\log p / \log x)]}{\log \log x} \right\}} + O\left\{ \frac{x}{(\log \log x)^2} \sum_{p \leq \sqrt{x}} \frac{1}{p} \right\} \\
 &= \frac{x}{\log \log x} \sum_{p \leq \sqrt{x}} \frac{1}{p} \left\{ 1 + O\left(\frac{1}{\log \log x} \right) \right\} + O\left(\frac{x}{\log \log x} \right) = x + O\left(\frac{x}{\log \log x} \right).
 \end{aligned}$$

Since $\sum_{n \leq x} \frac{1}{\Omega(n) + 1} \ll \frac{x}{\log \log x}$, we get

$$(8) \quad \sum_{n \leq x} \frac{1}{n(\Omega(n) + 1)} \ll \frac{1}{\log \log x} + \int_{10}^x \frac{dt}{\log \log t} \ll \int_{\log 10}^{\log x} \frac{dt}{\log t} \ll \frac{\log x}{\log \log x}.$$

By (8) and $\pi(x) \ll \frac{x}{\log x}$ we have

$$(9) \quad S_2 \ll \sum_{n \leq \sqrt{x}} \frac{1}{\Omega(n) + 1} \frac{x}{n \log(xn^{-1})} \ll \frac{x}{\log x} \sum_{n \leq \sqrt{x}} \frac{1}{n(\Omega(n) + 1)} \ll \frac{x}{\log \log x}.$$

Similarly, we get

$$(10) \quad S_3 \ll \frac{\sqrt{x}}{\log x} \frac{\sqrt{x}}{\log \log x} \ll \frac{x}{\log \log x}.$$

Lemma 3 follows from (6), (7), (9) and (10).

Proof of theorem 1. Let $\omega(1) = 0$ and $\frac{1}{\omega(1)} = 0$. We have

$$\begin{aligned}
 (11) \quad \sum_{2 \leq n \leq x} \frac{\Omega(n)}{\omega(n)} &= \sum_{n \leq x} \frac{1}{\omega(n)} \sum_{p^m | n} 1 = \sum_{n \leq x} \frac{1}{\omega(n)} \sum_{p | n} 1 + \sum_{n \leq x} \frac{1}{\omega(n)} \sum_{\substack{p^m | n \\ m \geq 2}} 1 \\
 &= \sum_{2 \leq n \leq x} 1 + \sum_{m \geq 2} \sum_{p^m \leq x} \sum_{n \leq xp^{-m}} \frac{1}{\omega(np^m)}.
 \end{aligned}$$

For convenience, let $\Sigma_1 = \sum_{m \geq 2} \sum_{p^m \leq x} \sum_{n \leq xp^{-m}} \frac{1}{\omega(n)}$ and $\Sigma_2 = \sum_{m \geq 2} \sum_{p^m \leq x} \sum_{n \leq xp^{-m}} \frac{1}{\omega(n) + 1}$, then

$$(12) \quad \Sigma_2 \leq \sum_{\substack{p^m \leq x \\ m \geq 2}} \sum_{n \leq xp^{-m}} \frac{1}{\omega(np^m)} \leq \sum_{\substack{p^m \leq x \\ m \geq 2}} (1 + \sum_{n \leq xp^{-m}} \frac{1}{\omega(n)}) = \Sigma_1 + \sum_{\substack{p^m \leq x \\ m \geq 2}} 1.$$

We now estimate Σ_1 , we have

$$(13) \quad \Sigma_1 = \sum_{\substack{np^m \leq x \\ m \geq 2}} \frac{1}{\omega(n)} = \sum_{n \leq \sqrt{x}} \frac{1}{\omega(n)} \sum_{\substack{p^m \leq \frac{x}{n} \\ m \geq 2}} 1 + \sum_{\substack{p^m \leq \sqrt{x} \\ m \geq 2}} \sum_{n \leq xp^{-m}} \frac{1}{\omega(n)} \\ - \left(\sum_{n \leq \sqrt{x}} \frac{1}{\omega(n)} \right) \left(\sum_{\substack{p^m \leq \sqrt{x} \\ m \geq 2}} 1 \right) = I_1 + I_2 - I_3.$$

By the prime number theorem we get

$$(14) \quad I_1 = \sum_{n \leq \sqrt{x}} \frac{1}{\omega(n)} \sum_{2 \leq m \leq \log_2 \frac{x}{n}} \pi\left(\sqrt{\frac{x}{n}}\right) \leq \sum_{n \leq \sqrt{x}} \pi\left(\sqrt{\frac{x}{n}}\right) \\ + \sum_{n \leq \sqrt{x}} \sum_{3 \leq m \leq \log_2 \frac{x}{n}} \pi\left(\sqrt[3]{\frac{x}{n}}\right) \ll \frac{x}{\log x}.$$

To estimate I_2 we need the inequality

$$(A) \quad \sum_{2 \leq n \leq x} \frac{1}{\omega^2(n)} \ll \frac{x}{(\log \log x)^2}$$

which can be obtained from the result of P. D. T. A. Elliott [3]: let $f(n)$ be an additive function and set $A(f, x) = \sum_{p^m \leq x} p^{-m} f(p^m)$, $B(f, x) = \left\{ \sum_{p^m \leq x} p^{-m} |f(p^m)|^2 \right\}^{1/2}$, $x \geq 2$, then there is a constant c_1 such that

$$(15) \quad x^{-1} \sum_{n \leq x} |f(n) - A(f, x)|^4 \leq c_1 \{B(f, x)\}^4 + c_1 \sum_{p^m \leq x} p^{-m} |f(p^m)|^4$$

holds uniformly for all additive functions $f(n)$, and $x \geq 2$. The details of the proof of (A) are given at the end of this paper. By Lemma 2, noting $\frac{1}{\omega(n)} = \frac{1}{\omega(n)+1} + O\left(\frac{1}{\omega^2(n)}\right)$ and the inequality (A), we get

$$(16) \quad I_2 = \sum_{\substack{p^m \leq \sqrt{x} \\ m \geq 2}} \left\{ \frac{x}{p^m \log \log(xp^{-m})} + O\left(\frac{x}{p^m (\log \log xp^{-m})^2}\right) \right\} \\ = \frac{x}{\log \log x} \sum_{\substack{p^m \leq \sqrt{x} \\ m \geq 2}} \frac{1}{p^m \left\{ 1 + \frac{\log(1 - \frac{m \log p}{\log x})}{\log \log x} \right\}} + O\left\{ \frac{x}{(\log \log x)^2} \sum_{\substack{p^m \leq \sqrt{x} \\ m \geq 2}} p^{-m} \right\}$$

$$= \frac{x}{\log \log x} \sum_{\substack{p^m \leq \sqrt{x} \\ m \geq 2}} p^{-m} \{1 + O(\frac{1}{\log \log x})\} + O\left\{\frac{x}{(\log \log x)^2} \sum_{\substack{p^m \leq \sqrt{x} \\ m \geq 2}} p^{-m}\right\}.$$

We have

$$\begin{aligned} (17) \quad \sum_{\substack{p^m \leq \sqrt{x} \\ m \geq 2}} p^{-m} &= \sum_{p \leq \sqrt{x}} \sum_{\substack{2 \leq m \leq \frac{\log \sqrt{x}}{\log p}}} p^{-m} = \sum_{p \leq \sqrt{x}} \sum_{m \geq 2} p^{-m} - \sum_{p \leq \sqrt{x}} \sum_{m > \frac{\log \sqrt{x}}{\log p}} p^{-m} \\ &= \sum_{p \leq \sqrt{x}} \frac{1}{p(p-1)} + O\left\{\sum_{p \leq \sqrt{x}} \left(1 - \frac{1}{p}\right)^{-1} p^{-\frac{\log \sqrt{x}}{\log p}}\right\} = c_0 + O\left(\frac{1}{\sqrt{x}}\right). \end{aligned}$$

From (16) and (17) we get

$$(18) \quad I_2 = c_0 \frac{x}{\log \log x} + O\left\{\frac{x}{(\log \log x)^2}\right\}.$$

Since $\sum_{\substack{p^m \leq \sqrt{x} \\ m \geq 2}} 1 = \sum_{\substack{2 \leq m \leq \frac{\log \sqrt{x}}{\log p}}} \sum_{p \leq x^{1/2m}} 1 \ll \log x \cdot \pi(\sqrt{x}) \ll \sqrt{x}$, we have

$$(19) \quad I_3 \ll x^{1/2} \cdot x^{1/4} \ll \frac{x}{(\log \log x)^2}.$$

From (13), (14), (18) and (19), we obtain

$$(20) \quad \Sigma_1 = c_0 \frac{x}{\log \log x} + O\left\{\frac{x}{(\log \log x)^2}\right\}.$$

Obviously, from Lemma 2 we can get in the same manner

$$(21) \quad \Sigma_2 = c_0 \frac{x}{\log \log x} + O\left\{\frac{x}{(\log \log x)^2}\right\}.$$

Combining (12), (20) with (21) we get

$$(22) \quad \sum_{\substack{p^m \leq x \\ m \geq 2}} \sum_{n \leq xp^{-m}} \frac{1}{\omega(np^m)} = c_0 \frac{x}{\log \log x} + O\left\{\frac{x}{(\log \log x)^2}\right\}.$$

The required result follows from (11) and (22).

Proof of the theorem 2. Let $\Omega(1)=0$. then

$$\begin{aligned} (23) \quad \sum_{2 \leq n \leq x} \frac{\log d(n)}{\Omega(n)} &= \sum_{2 \leq n \leq x} \frac{1}{\Omega(n)} \sum_{p^m | n} \log \left(\frac{m+1}{m}\right) = \log 2 \sum_{2 \leq n \leq x} \frac{1}{\Omega(n)} \sum_{p | n} 1 \\ &+ \sum_{2 \leq n \leq x} \frac{1}{\Omega(n)} \sum_{\substack{p^m | n \\ m \geq 2}} \log \left(1 + \frac{1}{m}\right) = \log 2 \sum_{2 \leq n \leq x} \frac{\omega(n)}{\Omega(n)} + \sum_{\substack{p^m \leq x \\ m \geq 2}} \log \left(1 + \frac{1}{m}\right) \sum_{n \leq xp^{-m}} \frac{1}{\Omega(n) + m}. \end{aligned}$$

We now estimate the sum $S = \sum_{\substack{r^m \leq x \\ m \geq 2}} \log(1 + \frac{1}{m}) \sum_{n \leq xp^{-m}} \frac{1}{\Omega(n) + m}$. Let $\frac{1}{\Omega(1)} = 0$, then

$$\begin{aligned}
 (24) \quad S &\leq \sum_{\substack{r^m \leq x \\ m \geq 2}} \log(1 + \frac{1}{m}) \sum_{n \leq xp^{-m}} \frac{1}{\Omega(n)} + \sum_{\substack{r^m \leq x \\ m \geq 2}} \frac{1}{m} \log(1 + \frac{1}{m}) \\
 &= \sum_{\substack{r^m \leq x \\ m \geq 2}} \frac{1}{\Omega(n)} \log(1 + \frac{1}{m}) + O\left(\sum_{p \leq \sqrt{x}} \sum_{m \geq 2} \frac{1}{m^2}\right) \\
 &\quad \sum_{\substack{r^m \leq \sqrt{x} \\ m \geq 2}} \log(1 + \frac{1}{m}) \sum_{n \leq xp^{-m}} \frac{1}{\Omega(n)} + \sum_{n \leq \sqrt{x}} \frac{1}{\Omega(n)} \sum_{\substack{r^m \leq xn^{-1} \\ m \geq 2}} \log(1 + \frac{1}{m}) \\
 &\quad - \left(\sum_{\substack{r^m \leq \sqrt{x} \\ m \geq 2}} \log(1 + \frac{1}{m})\right) \left(\sum_{n \leq \sqrt{x}} \frac{1}{\Omega(n)}\right) + O(\sqrt{x}) = S'_1 + S'_2 - S'_3 + O(\sqrt{x})
 \end{aligned}$$

In order to estimate $S'_i, 1 \leq i \leq 3$, we need the following two inequalities. By Lemma 1 we have

$$(25) \quad \sum_{2 \leq n \leq x} \frac{1}{\Omega(n)} \leq 2 \sum_{2 \leq n \leq x} \frac{1}{\Omega(n) + 1} \ll \frac{x}{\log \log x}.$$

From the prime number theorem we get

$$(26) \quad \sum_{\substack{r^m \leq y \\ m \geq 2}} \log(1 + \frac{1}{m}) \leq \sum_{p \leq \sqrt{y}} \sum_{2 \leq m \leq \log_2 y} \frac{1}{m} \ll \log \log y \cdot \pi(\sqrt{y}) \ll \frac{\sqrt{y}}{\log \log y}.$$

By (25) and (26) we have the following estimations

$$S'_1 \ll \sum_{\substack{r^m \leq \sqrt{x} \\ m \geq 2}} \frac{x}{p^m \log \log(xp^{-m})} \log(1 + \frac{1}{m}) \ll \frac{x}{\log \log x} \sum_{\substack{r^m \leq \sqrt{x} \\ m \geq 2}} p^{-m} \ll \frac{x}{\log \log x},$$

$$S'_2 \leq \sum_{n \leq \sqrt{x}} \frac{1}{\Omega(n)} \sum_{\substack{r^m \leq x \\ m \geq 2}} \log(1 + \frac{1}{m}) \ll \frac{\sqrt{x}}{\log \log x} \frac{\sqrt{x}}{\log \log x} \ll \frac{x}{\log \log x}$$

and

$$S'_3 \ll \frac{x}{\log \log x}.$$

Hence

$$(27) \quad S \ll \frac{x}{\log \log x}.$$

The assertion follows from (23), (27) and Lemma 3.

Finally, we prove the inequality (A). Taking $f(n) = \omega(n)$ we have

$$(28) \quad A(\omega, x) = \{B(\omega, x)\}^2 = \sum_{p^m \leq x} p^{-m} = \sum_{p \leq x} p^{-1} + O\left(\sum_p \sum_{m \geq 2} p^{-m}\right) = \log \log x + O(1).$$

By (15) and (28), noting $|a+b|^4 \leq 8(|a|^4 + |b|^4)$, we get

$$\begin{aligned} \sum_{n \leq x} |\omega(n) - \log \log x|^4 &= \sum_{n \leq x} |\omega(n) - A(\omega, x) + O(1)|^4 \\ &\leq 8 \sum_{n \leq x} |\omega(n) - A(\omega, x)|^4 + c_2 x \leq c_3 x (\log \log x)^2, \end{aligned}$$

where c_2 and c_3 are constants. Hence we get

$$c_3 x (\log \log x)^2 \geq \sum_{\substack{2 \leq n \leq x \\ 2\omega(n) < \log \log x}} |\omega(n) - \log \log x|^4 \geq 2^{-4} (\log \log x)^4 \sum_{\substack{2 \leq n \leq x \\ 2\omega(n) < \log \log x}} 1$$

and so

$$(29) \quad \sum_{\substack{2 \leq n \leq x \\ 2\omega(n) < \log \log x}} 1 \leq 16c_3 \frac{x}{(\log \log x)^2}.$$

By (29) we get

$$\begin{aligned} \sum_{\substack{2 \leq n \leq x \\ 2\omega(n) < \log \log x}} \frac{1}{\omega^2(n)} &= \sum_{\substack{2 \leq n \leq x \\ 2\omega(n) < \log \log x}} \frac{1}{\omega^2(n)} + \sum_{\substack{2 \leq n \leq x \\ 2\omega(n) \geq \log \log x}} \frac{1}{\omega^2(n)} \\ &\leq \sum_{\substack{2 \leq n \leq x \\ 2\omega(n) < \log \log x}} 1 + \frac{4x}{(\log \log x)^2} \leq (16c_3 + 4) \frac{x}{(\log \log x)^2}. \end{aligned}$$

This proves Inequality (A).

References

1. R. L. Duncan. On the factorization of integers. *Proc. Amer. Math. Soc.*, **25**, 1970, 191-192.
2. H. Delange. Sur des formules de Atle Selberg. *Acta Arith.*, **XIX**, 1971, 105-146.
3. P. D. T. A. Elliott. High-power analogues of the Turan-Kubilius inequality, and application to Number Theory. *Canad. J. Math.*, **32**, 1980, 893-907.
4. A. Selberg. Note on a paper by L. G. Shathe. *J. Indian Math. Soc.*, **18**, 1954, 83-87.

Department of Mathematics
Shandong University
Jinan 250100, Shandong
P. R. CHINA

Received 24.07.1991